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Welcome to the Key stage 1
Parents
Maths Workshop






zalcula

Which method
did you use?

| What skills
6+7= were you
15 + 11 = using?
24 + 9 =
32 +21 = Does that method
work for all of these
45 + 36 = calculations?

120+ 11 =



= ( doubling)

6 +7 = (near doubles; double 6, then add 1 more)
15 + 11 = (add 10, add 1)

24 + 9 = (add 10, subtract 1)

3 2 - o 21 = (could add 20, add 1 or add tens, add units and then total)
45 + 36 = (adding by partitioning)
120 + 11 = (add 10, add 1)



Maths talk

| noticed ....

| agree because....
| can use.......
This is the best method because......
| know my answer is correct because ...
The pattern | can see is .....
I predict that...
The drawing tells me .....
They are the same because .....
They are different because .....
It is the odd one out because.....
This makes sense because .....
| made a connection between .... and ...
If | know that..... | also know.......
| choose this method because...
An image | could use is...
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8+b5=13

+1 41 +1 +1 +1
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15

25

15

[ 45
51| 52|53 (54|55 56| 57|58 59|60 51| 52 | 53 | salssl el sl e
ol [ 6 |63 |64 | 68 | a6 | oF | 6B [ &% | 7O Ol [ 62 |63 |64 | 60 | 66 | 67 | 68 | &% .‘.
Tl | 7Fe | 72|74 |75 |76 | 77 | TR| 79| B0 T1 | 72| 72|74 |75 | 7o |F7| T8 79| 80
Bl | 82|83 |84 |85 66| 87 | 88| 89|90 Bl | 82|83 |84|85 | 686|687 |88| 89|50
91 92|93 |94|95 | 96| 97 | 98| 99 | 100 91| 92|93 (94|95 96| 97|98 99100

32+6=38 34 + 26 = 60

“Start at 32 and add on é more “Start at 34 jump down 10, 20 and

Jumps” across 21 22 23 24 25, 26"



344+ 23:=57

+10

+1 +1 +1

54 B5 5& 57

34+ 2357
+10 +10
//W
34 44 B4 B7
34+ 23:=87

+20

/_\/:_\

34 84 57



30 + 20
2+ b

90+

50
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O

Write o digit in each box to make the sum correct,

7

+

8

Do these mlculotions have the some onswer?

Write yes or mo next to sach box.

COne is dona for you,

lﬂ+2 and 2+B‘ |




A number bond is the number that you add another number to reach a target number, for example 6 and 4 are
number bonds to 10.

Knowing the combination of numbers that make 10 forms an important part in number work in ke%/hstage 1 and

forms the foundations of number work in key stage 2. When learning these it is useful to learn

(opposite) number facts alongside.

e inverse

ADDITION SUBTRACTION
0+ 10 = 10 10¢ 10=0
1+9=10 10c9=1
2+8=10 L+6=1 10c 8 =2
3+7=10 g me A 10¢7=3
4+6=10 o ! 10c6=14
5+5=10 o 10¢5=5
6+4=10 10¢4=6 0= I1+9 248 3+7 4+6
7+3=10 10¢3=7
8+2=10 10c2=8
9+1=10 10c1=9
10+0=10 10c0 =10

As confidence with number bonds to 10 grows, children can begin to learn number bonds to 20, 50 and 100. The
quick recall of these is essential for good mental calculation work.
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The difference between
3and 6is 3
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A number line can also help you solve subtraction problems.

To show this problem on the
8-5=3 number line, go from 0 10 8
V12948078910 and then count back 5.

...................................................................................

Show each problem on the number line and write the answer.

D 9-3= 6 p 5-4=
AT T I (T Rl Bl il
012345678910 012345678910
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29-5=-24
“Start at 29 and jump back 5"

01 |92 |93 |94 (95| 85 | 97 | 98 | 99 | 100

76 -24:=52

"Start at 76 jump up 10, 20 and back
21 22 23.24"




47-23 =24

47-23=24
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K TN

24 25 26 27 37
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a Site has 50 raising,

She gives 23 to Ben.

She gives 15 to Amy.

How many raisins does Sita have leH?

'::} i







B5+5+5:=15
3 "lots of" 5 =15
3 xB=15




1 x2=2

2x2=4

5 x2=10 '12 fhen 'rhey can wor'k ouf6x2!
O xé= 12‘ Start by using the phrase...

7 x2=14 what is 6 'lots of' 22
Bxeé=16 &?\viqn;o.;: .
9x2=18 at Is imes <

10x 2 = 20




Joy picks 4 flowers a
day on Monday,
Tuesday, Wednesday
and Thursday. How
many flowers does

sh.e have?
r ‘ § 4 . 2\

VW

5 cats have
4 kittens each. How

many kittens are
1there in total?

: g ¥
2 L




m Whrite the bwee nissing numloers in this paliem.

n Ban bes 13 eroyor.

i
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T — o e
Here ot Alsdhls crimgon s, ﬂ

Hére marny ercpries dosti Akl hiavu?

e . e
g s Site puts 2 showes in each of these baxes,

Hew many shoes ore there altogether?







